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Wie groß ist die Fläche A?  
 

 
 

 
 

 
 

 
 

 

 
 

 
 

 
 

 
 

 
 

 
 

 
A = Halbkreis + Viertelkreis + Kreissektor – Dreieck – Kreis 

 

                  11² * π     
Halbkreis = ---------- = 190 mm² 

                       2  
 

                     22² * π 
Viertelkreis = ---------- = 379,9 mm² 

                          4     
 

                    (35 + 22)² mm² * π * 51°       
Kreissektor = ------------------------------ = 1 445,3 mm² 

                                    360°    
 

               35 mm * 44 mm  
Dreieck = ------------------- = 110 mm² 

                         2    

 
Kreis = 3² mm² * π = 28,3 mm² 

 
A = 190 mm² + 379,9 mm² + 1 445,3 mm² - 770 mm² - 28,3 mm² = 

 
A = 1 216,9 mm² 

 


